Part List W3936 WM3936GDEIT WOEF3936GDF I Unit:inch
No| Picture Specification Qty : 5 3 /
A Screw @3*1/2" 32 % X‘ % X /"
B Screw @&3*5/8" 8 B 3 ‘
® Screw J4*5/8" 4 & > sil L2
D Screw @4*1 3/16"| 6 N i ‘ //
%> /9, Face g
E Corner Bracket 3 Left Door Right Door Frame -
F Shelf Clip 38 4 5
G Hinges 4
H Bumper 4 g
Left /79 Right
Side Panel z Side Panel Panel
7/ 3
Bottom / Back o \\\b -
Panel Panel Shelf




Assembly instructions

No| Picture| Specification [Qty|[No| Picture| Specification [Qty
A [ Screw @3*1/2" 32 Corner Bracket | 8
B [®p | Screw @3*5/8" [ 12 Shelf Clip 12
C § Screw @4*5/8" 6 Hinges 6
D : Screw @4*1 3/16'1 6 Bumper 4

W3930-W4230 W3936-W4236
WM3930GDF 1-WM4230GDF 1 WM936GDE1-WM4236GDF1
WOF3930GDFI-WOF4230GDFT  WOF3936GDE 1-WOF4236GDE L




